

Michael Zimmerman Counsel, Regulatory 411 Seventh Avenue Mail drop 15-7 Pittsburgh, PA 15219 Tel: 412-393-6268 mzimmerman@duqlight.com

January 29, 2019

Via Electronic Filing

Ms. Rosemary Chiavetta, Secretary Pennsylvania Public Utility Commission Commonwealth Keystone Building, 2nd Floor 400 North Street Harrisburg, PA 17120

Re: Duquesne Light Company Base Rate Case Compliance Filing

Tax Cut and Jobs Act - Rate Class Refund

Docket No. R-2018-3000124

Dear Secretary Chiavetta:

Enclosed for filing, please find a schedule that details the refunds Duquesne Light Company (the "Company") is providing to customers as a result of the Tax Cut and Jobs Act of 2017. This schedule is filed in compliance with the Order of the Pennsylvania Public Utility Commission ("Commission") entered in the above-captioned proceeding on December 20, 2018 ("Rate Case Order"), at Ordering Paragraph 10.

Should you have any questions, please contact me or David Ogden, Manager of Rate & Tariff Services, at 412-393-6343 or dogden@duqlight.com.

Respectfully Submitted,

Michael Zimmerman Counsel, Regulatory

Enclosures

cc: Honorable Katrina L. Dunderdale

Certificate of Service

CERTIFICATE OF SERVICE

I hereby certify that true and correct copies of the foregoing have been served upon the following persons, in the manner indicated, in accordance with the requirements of 52 Pa. Code § 1.54 (relating to service by a participant).

VIA E-MAIL AND FIRST CLASS MAIL

Gina L. Miller, Esquire
John M. Coogan, Esquire
Bureau of Investigation & Enforcement
Commonwealth Keystone Building
400 North Street, 2nd Floor West
PO Box 3265
Harrisburg, PA 17105-3265

Kadeem G. Morris, Esquire
Elizabeth R. Marx, Esquire
John W. Sweet, Esquire
Pennsylvania Utility Law Project
118 Locust Street
Harrisburg, PA 17101-1414
Counsel for Coalition for Affordable Utility
Services and Energy Efficiency in PA
(CAUSE-PA)

Phillip D. Demanchick, Esquire David T. Evrard, Esquire Office of Consumer Advocate 555 Walnut Street Forum Place, 5th Floor Harrisburg, PA 17101-1923 Joseph L. Vullo, Esquire
Burke Vullo Reilly Roberts
1460 Wyoming Avenue
Forty Fort, PA 18704
Counsel for Community Action
Association of PA (CAAP)

Patrick Cicero, Esquire

Sharon Webb, Esquire Office of Small Business Advocate 300 North Second Street, Suite 202 Harrisburg, PA 17101

David P. Zambito, Esquire Jonathan P. Nase, Esquire Cozen O'Connor 17 North 2nd Street, 14th Floor Harrisburg, PA 17101 Counsel for Peoples Natural Gas Company, LLC

Scott J. Rubin, Esquire
Public Utility Consulting
333 Oak Lane
Bloomsburg, PA 17815
Counsel for International Brotherhood
Of Electrical Workers, Local 29

William H. Roberts, II, Esquire PNG Companies, LLC 375 North Shore Drive Pittsburgh, PA 15212 Counsel for Peoples Natural Gas Company, LLC

Mark C. Szybist, Esquire 1152 15th Street NW, Suite 300 Washington, DC 20005 Counsel for NRDC Anthony C. DeCustatis, Esquire Morgan, Lewis & Bockius 1701 Market Street Philadelphia, PA 19103-2921 Counsel for Duquesne Light Company Renardo L. Hicks, Esquire
Dilworth Paxon LLP
Penn National Insurance Building
2 North 2nd Street, Suite 1101
Harrisburg, PA 17101
Counsel for ChargePoint, Inc.

Pamela C. Polacek, Esquire Matthew L. Garber, Esquire McNees Wallace & Nurick LLC 100 Pine Street, PO Box 1166 Harrisburg, PA 17108-1166 Counsel for Duquesne Industrial Intervenors

Jason Dolby 409 Anawanda Avenue Pittsburgh, PA 15228

Eric Miller, Esquire
Policy Counsel
Keystone Energy Efficiency Alliance
1501 Cherry Street
Philadelphia, PA 19102
Counsel for KEEA

Matthew F. Smith, Esquire
Cozen O'Connor
One Oxford Centre
301 Grant Street
26th Floor
Pittsburgh, PA 15219
Counsel for NRG Energy Center Pittsburgh,
LLC

Derrick Price Williamson, Esquire Barry A. Naum, Esquire Spilman Thomas & Battle, PLLC 1100 Bent Creek Boulevard, Suite 101 Mechanicsburg, PA 17050 Counsel for Wal-Mart Store East, LP and Sam's East, Inc.

Sarah Stoner, Esquire Daniel Clearfield, Esquire 213 Market Street, 8th Floor Harrisburg, PA 17101 Counsel for KEEA

James L. Crist, P.E Lumen Group Suite 101, 4226 Yarmouth Drive Allison Park, PA 15101 Counsel for Duquesne Industrial Intervenors

BY EMAIL ONLY:

Joseph Otis Minott, Esquire Logan Welde, Esquire Clean Air Council 135 S. 19th Street, Suite 300 Philadelphia, PA 19103 Counsel for Clean Air Council

Brian Kalcic
Excel Consulting
Suite 720-T
225 S. Meramac Avenue
St. Louis, MO 63105
Consulting for OSBA

Emily Collins, Esquire Emma Hempstead, Esquire Fair Shake Environmental Legal Services 3495 Butler Street Suite 102 Pittsburgh, PA 15201 Counsel for NRDC

Date: January 29, 2019

Michael Zimmerman Duquesne Light Company 411 Seventh Avenue, 15-7 Pittsburgh, PA 15219

Pittsburgh, PA 15219 Phone: 412-393-6268

mzimmerman@duqlight.com

Duquesne Light Company Tax Refund by Class Docket No. R-2018-3000124

	[A]	[A]		[B]		
Rate Class	2019 Pro Forma Base Revenue	2019 Pro Forma Base Revenue Allocation	Nominal Refund Amount	Customer Count	Average One Time Bill Credit	
RS	\$283,780,045	52.7%	\$12,645,181	496,084	\$25.49	
RH	\$24,366,672	4.5%	\$1,085,658	35,795	\$30.33	
RA	\$2,897,146	0.5%	\$129,053	5,611	\$23.00	
GS .	\$10,593,981	2.0%	\$472,087	23,336	\$20.19	
GM<25	\$25,602,553	4.8%	\$1,140,890	18,871	\$60.46	
GM>25	\$75,235,208	14.0%	\$3,352,598	8,972	\$373.67	
GMH<25	\$2,470,303	0.5%	\$110,081	2,243	\$49.08	
GMH>25	\$7,557,968	1.4%	\$336,795	986	\$341.58	[c]
GL	\$64,178,058	11.9%	\$2,859,874	728	\$3,928.40	ارد
GLH	\$9,046,751	1.7%	\$403,137	91	\$4,430.08	
Ļ	\$20,114,046	3.7%	\$896,313	22	\$40,741.50	
L>138KV/HVPS	\$226,730	0.0%	\$10,103	8	\$1,262.87	
AL	\$1,051	0.0%	\$47	3	\$15.67	
SE	\$1,416,474	0.3%	\$63,120	1	\$63,120.00	
SM	\$9,528,893	1.8%	\$424,622	173	\$2,454.46	[C
SH	\$109,349	0.0%	\$4,873	13	\$374.85	
PAL	\$439,113	0.1%	\$19,566	819	\$23.80	
UMS	\$1,016,510	0.2%	\$45,323	5,454	\$8.31	_
Total	\$538,580,849		\$23,999,321	599,210		•

[A] Per the terms of the Company's Joint Petition for Approval of Settlement Stipulation at Docket No. R-2018-3000124, the Company allocated the tax refund between the Company's various rate classes based on the "Base Rate Revenue at Settlement Rates" as presented on Appendix B, page 1, column H.

[B] The fixed, one-time bill credit was provided to customers of record as of December 1, 2018 in each of these rate classes (individual customer credits for Medium C&I, Large C&I and Rate SM and average customer class credits for the others). The credit was provided during the January 2019 billing cycle.

[C] The Company calculated an individual refund for Medium C&I, Large C&I and Rate SM for each customer based on their percentage of actual base distribution revenue to the class distribution revenue for the period December 1, 2017 through November 30, 2018. The average, one time bill credit for these customers is for illustrative purposes only.